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1 metre = 1000 millimetres					Milli- means ‘thousandth’
1 metre = 100 centimetres      (so 10 mm = 1 cm)		Centi- means ‘hundredth’
1 kilometre = 1000 metres					Kilo- means ‘thousand’

5 kilometres is the same as ____ metres
4.3 kilometres is the same as ____ metres
9000 metres is the same as ____ kilometres
6500 metres is the same as ____ kilometres

2 metres is the same as ____ millimetres
5.6 metres is the same as ____ millimetres
7000 millimetres is the same as ____ metres
2800 millimetres is the same as ____ metres

8 metres is the same as ____ centimetres
4.8 metres is the same as ____ centimetres
600 centimetres is the same as ____ metres
3800 centimetres is the same as ____ metres

5 centimetres is the same as ____ millimetres
3.5 centimetres is the same as ____ millimetres 
90 millimetres is the same as ____ centimetres
180 millimetres is the same as ____ centimetres

170 centimetres is the same as ________________
460 centimetres is the same as ________________
90 centimetres is the same as ________________
1800 centimetres is the same as ________________

4 metres is the same as ________________
40 metres is the same as ________________
8.2 metres is the same as ________________
0.9 metres is the same as ________________

Now find another way to complete the last eight sentences.  And another.
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